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ABC:
Face value = €1000
Annual coupon = 5.5%*1000 = €55
YTM = 4.5%
Years to maturity = 5
Current price = 55/0.045*(1-1.045-5) + 1000/1.0455 = €1043.90

XYZ:
Face value = €1000
Annual coupon = 4%*1000 = €40
Years to maturity = 6
YTM = i
Current price = 40/i*(1-(1+i)-6) + 1000/(1+i)6 = €949.24
i = 5.0%
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Face value = €1000
Semi-annual coupon = 5.5%*1000/2 = €27.5
Semi-annual YTM = 4.5%/2 = 2.25%
Semi-annual periods to maturity = 5*2 = 10
Current price = 27.5/0.0225*(1-1.0225-10) + 1000/1.022510 = €1044.33
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Face value = €1000
Annual coupon = 5.5%*1000 = €55
YTM = 5.5%
Years to maturity = 5
Current price = 55/0.055*(1-1.055-5) + 1000/1.0555 = €1000.00
This tells us that the price of the bond is inversely proportional to YTM. As YTM increases, the bond price falls and vice-versa. 
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Value of preferred stock = Dividend/required return = 2.63/8% = $32.88
Value of common stock = 1.6*(1+8.15%)/(12%-8.15%) = $44.95
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I would select the Southwest Bancorp preferred stock.
According to my required return, the preferred stock is worth more than its market price, i.e., the stock is undervalued. Also, the Emerson Electric common stock is overpriced as its market value is more than the intrinsic value of the stock. If I invest in preferred stock, I will be able to make more than my required return. However, investment in common stock will not provide me my required return.
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Expected rate of return on preferred stock = 2.63/26.25 = 10.02%
Expected rate of return on common equity = 1.6*(1+8.15%)/52 + 8.15% = 11.48%




